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And he wants to admit to all — 9797 Y2 2

OVERVIEW

127 asked why 1s a n¥pna 77 required to take an oath. [According to M50IN
he should be believed with a 1» of 9277 9915, According to others; why is a
2"M3 not required to take an oath.] 7127 answers that 11"'v2 *193 1715 1Y QTR TR
[and therefore there is no 13 (according to N9OIN); or the 3"M> is saying the
truth (according to others)]. This would seem to satisfactorily answer s'7127
original question. 727, however, continues with an analysis of the »"2m and
concludes that he is vanw n. The question is; why did 7727 find it necessary to
continue explaining that the »"2m is vanw ? >"w1 and Moo offer different
explanations.

= YAV ONNN YWI9Y RNNT (0w 3,2 97 INYINN NI DIONPA WD
''w explained in »''3 n2on that 727 is continuing to explain why the 771

nxpn2 is required to swear, for seemingly —
= NOVIIAUN 29 TOYUN NINAN TOUNT 1N NI

Let us argue that since this n"21 is suspect of dishonesty in monetary
issues (that is why the oath is being administered to him), he should also be

suspect concerning the oath; he may swear falsely. If the »"2m is suspect of being
willing to steal he should equally be suspect of willing to swear falsely. What then is the

purpose of the oath?!
= NN TIYN XD 157 ¥T1HT 5¥2 151521 9N 290D

And therefore 727 continued and said that this »n"2m really wanted to
admit to owing everything (he has every intention of ultimately repaying
the loan, however presently he is vanwn); therefore he is not suspect in

monetary matters, and an oath may be administered. This concludes s""w9
interpretation of 121 ¥9102.

mooIn has a difficulty with s""wA explanation:
= (3,7 97 NYIN1I NI2T NNIP P992 99X NNT PHYY 139399 NYp)

And the 5""9 has a difficulty with s""w" explanation, for the X7nx states in

the first pap of »''2 noon —
= ROWIAYN 93 TOUN NIMNIN TIUNT 1M 13999NR N9

That we do not presume that since one is suspect in monetary matters he

15871 77"72 (see 'on there 7132 71"7).
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is suspect as well concerning oaths; but rather the assumption is that even one
who is 17X 7w is not Xny1awR 7wn. How could "1 interpret that the reason 1727 says
"9 0797 °¥2 °7102Y' is to remove the problem of XYW "1 W RINNR TWIT AN ?!

maoIn anticipates (and rejects) a possible solution to his question on >"w™:
- YN NYT19NNRT XID 132979) RAMAUN 933 TOUN 199NN 117 119 PN)

And one cannot answer that according to 77710 law, a X17nX 75w is also
XnyiwN 7wn, and that which the X773 states that a X1k 7w is not Tswn
XNY12WK that 1s only 322977, The reason why 1312977 a X1MPR WA is RIYIAWR TWA K2
1S —
- DYIVNA YY DAY 1PN NIAWAN M1 PRI P93P PIY INIY %Y
For the onon realized that people are more lenient in allowing themselves
to lie in monetary matters more than they would lie by oaths; and
therefore they instituted an oath (even) on suspected liars —
- 29599 NN P TYIY )91 RINY Y1) XYW 19t 95
As long as it is not known that he is a robber; and therefore he is still fit
for an oath 707 3» -
- 1395 KXY NND P2 OOV W1 )1 Yan
However for a known 1913 who is unfit ;79077 32 to take an oath, in those
cases the o°non did not institute that an oath be administered to a 1713. This would
seemingly answer NMo0IN question on *"'wA.

mooIN continues to resolve certain issues if we were to accept this answer:

- 192973 NON 395 1A SHNYY XYY AMAY N1 %99
And according to this explanation, the oath that a watchman swears, that
‘I did not use the deposited object’ is (merely) a 33297% 7¥12W; for according
to the 7N law XNYIAWR 7w XK 7whT 122, If we suspect the 7mw that he was 7> mw
in the N7po, that makes the MW a X1nnXk 7°wn (he is using something that does not belong
to him [so there is no vanNw™1]), and 77NT 72 a RIAAKR TWA 1s XKNYIAWR WA, and cannot

2 Even though that he is a TWwn, and XnYI2WR 71 TWA XKIMAR TWAT 13 707 11; nevertheless a X1k 7w is
not 77N 11 1YWY 700 It is merely that there is no point in giving him the 7y12w. If he is saying the truth
there is no need for a 7312w and if he is lying; he will swear falsely anyway. The o°non however realized
that there is a point in requiring him to swear. For in the times of the 2on a XNk 7wWn was not 7wn
XNY12WR as long as he is not a 317° 7213 He is merely 7wn of being a 1712 (that is why we administer the oath)
but he is not a 171 °k71. However by a 1213 *X71 who is n"nn avawh 2109, the o'non were not inclined to make
him swear (even though XN¥1WR W XY RNAAKX W), since he is a n"an 712w> 100 °X7. See later in this
mooin the difference between a 7TWwn and a 1773,

3 nww 17 states (X,) n"3) that a 9w who claims that a mishap happened to the 11775 and wants to exempt
himself from payment is required to make three oaths; 1) that I was not negligent, 2) that I did no use the
1779, and 3) that it is not in my possession.
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swear.
= [Ma 'nHywa XYY AW NIN NNPIINT M0 X9Y]

[And the only oath that a watchman must swear 7191077 3%, is the oath that I

was not negligent in watching the 117p5; for even if the 1w was negligent, we cannot
consider him a X1mnR 7wn (even though that if he was yuo he is 2»n for the 1N7pD),
therefore he may swear 7077 12 that 72 "nyws 85.]*

mooIN continues to anticipate and resolve another issue (with this assumption):
= YW ROV Yaw) NXIP 9INRP 291 NHN NHY RHYW ¥avIY XY NHY XY DN 299157 XN

And that which is written in the 770 ‘if he did not send his hand in (use)
his neighbors deposit’,’ it does not mean that he swears that he was not
7> o (for if we suspect him of 7 mmow he is Rn¥AWK °wn); but rather

this is what the verse is stating: the 1w swears Ywd X5 (for even if he was
YW he is not R1MNXR 7wn and nO¥1WY W2); however the oo states that there is a

restriction to taking this oath —
= DYDIN 2NNT YV RIY II2ON 290 79 12 NHY ONRT 49 12 NHY NIV 119713 SNHNIN

When can the 9w take the oath of *nyws X>w, only in a situation where
the 9w was not 7> n9w (only then can he swear that *nyws X% and be
exempt from paying for the missing object); for if he was 7> w2 then the
MY is obligated to pay for the missing 11772 even if he was not yws, for
since he was 7> 2w he becomes obligated to pay for the 1779 even if it was

missing due to unforeseen (and unavoidable) accidents.® There is therefore no
purpose in swearing nywd XY if he was 7 n7w.” This concludes the (attempted) answer
on "1 (with additional resolutions).

moon however rejects this solution. We cannot say that X1vanX 7°wn Xn»MIR7A 1S W0
NNDYIAWN:
= 990UN NY 9N INT YIYN (3,35 97 myaw) NAN 2297 NID) 3) NNY

41t is not clear from mooIn whether the "N1w12 AIRW AY12W is N7 or not. See 72 NIX QY1 MBDWA.

3> The 109 in 7,22 (2°WoWn) NMAW reads 1Y NIR5MI 17 MHW RS DX DP9RA X 1277 Hya 27pn. This refers to the
oath (2°p7871 %X 2"17¥2 27p1) that the W must take. The simple reading of the P09 indicates that the oath is
17 NORYM 17 oW K2 oX. However according to the present understanding there can be no 7n oath if we
suspect the 1w of 7> mmhw; for then he is a XX 7w

¢ When the "W is 7> n9w (without permission), he is 1P the 1779 to be responsible for all D°0NK.

7 The 10 would be understood as follows 2°P9R77 9% 2"y 27p to administer the oath of *nyws XY to the
amw; when is this oath administered (and subsequently exempting the W from paying), only if 17> 12w K?
1Y noXY»a. The words "3 77w X7 OX is not part of the oath; but rather refer to the circumstances that allow
the oath to be administered.
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For concerning the case of a piece of silver that Xax 21 ruled on,? it seems
that if the defendant would have claimed ‘I did not grab the silver from the
plaintiff® -

- NIMNN PYNT 2) YY X 190 NN YININY yaw) 7N
He would be obligated to swear that he did not seize the silver, in order to
contradict the testimony of the witness who claims that he did seize the
silver from the plaintiff; even though that in that case the defendant is a

RIIRRR 79N (seizing from someone is an act of 712°1 [unless it can be proven that the
object seized belongs to the seizer]).” We can derive that an oath is administered 77077 T2
even by a X1mnR 7°wn. This contradicts the previous answer.

moon anticipates (and rejects) a possible answer. Perhaps the 7312w 21n there is only
13277% and not XX TA, and 13277 there is no 121 XA TWAT 132, MDON rejects this:
= NN»INT AYAY XN On

And there by the case of X2X 177 X201 it was a 12w 790 that the seizer

would have been required to swear, not a 11277 7¥12w. NMOOIN proves it:
- DYUN YAWOY 9199 1RV TINM 129N NY 19297 N¥avat

For by a 312972 nvaw we do not say ‘that since he cannot swear he is

obligated to pay!!' —
= NV RN 22) (ow) RYINND NIAT NP 7992 ¥NRWNTI

As is indicated in the first P9 of »''2 Ndon; concerning the case of ‘there
was a shepherd, etc’!?. Since we see that by X"17 X201 there is a ruling of T

8 The case there is of a plaintiff who claims (and has a single supporting witness) that the defendant seized
from him a piece of silver. The defendant admitted to seizing the silver; however he claims that the silver
belongs to him and not to the plaintiff. There are no other witnesses (as to who is the original owner of the
X201). XX 11 ruled that the defendant is obligated to swear (if he would have claimed *svn R?); however
since he cannot swear (for he is not contradicting the X"v) he is a o>wn yawH 127 WX Avaw 2 and
therefore he is obligated to return the Xo01.

% There is no "WMNWX when he claims *5vn X2 and is lying; as opposed to other Myaw of an X"y, even by a
2"m>, where there is the X720 of *vIMNWR (see A" W 2"1nA).

10 The my12w in the case of XaX *177 X201 is a X"y ny1aw, which is a Xn»IXT Av1aw. However, if we maintain
that XN™IRTM a RNAR 7WR is RNY1AWR 7w, then n'"7n we would not allow the v to swear (for he is 7wn
x1nR. The Avaw 21n against the X"V is (in this case) a 11277 Av1aw. This is what mao1n is referring to when
he discusses whether the 7312w of X"17 XD01 is a XN™TRT 7AW or a 13277 712w,

' XaR »21 ruled that the AU is a AW 2 to deny the testimony of the X"v. However since he is 2127 X
yaw* therefore he is obligated to pay.

12 The shepherd counterclaimed that on this particular day he was not given any sheep to watch. o7y
testified that they saw him eat two (of the owners’) sheep on that day. The X3 there says that if the ruling
of ®»n "1 is correct (according to n"7 the testimony of the 0°7v make it similar to a n¥pna 77n), the
shepherd would be obligated in a Xn> 87 7v12w. However since he is a 1213 (on account of the two sheep)
he cannot swear the n"21m nyaw; rather the claimants would swear how many sheep they gave him on that
day and he would be obligated to pay. The X3 asks that even without the ruling 11"9 (which makes him
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n"»Rw, that proves that the 7312w by X'"17 X201 is a XN»7KT 712w, even though that the
auIT is a XKNPKR 7w, We may conclude that even by a Xn»7X7 7312w we do not say 1
RPYAwR 7wn X1k 7wnT. This contradicts 190N proposed explanation of *"wA which
distinguishes between a Xn™ X7 Ay12w and a 11277 712w concerning the issue of 7wn
XNYIAWR 7w X1MnR. The original question remains how can *"w1 state that when 7127 said
% 797 %2 7521 he was addressing the issue of X1mnR wn, when it is known that an
RNVIAWR 7w R? R1IMIR 7wn7, both by a Rn»MX7 7312w and a 13277 7w,

mooin will give his own interpretation why 727 continues with 123 >v2 ¥91221:
= NINYPN 995V 193 JPINI NI YN DN PRT 1199 SUPN NDT YWI9Y NOINT AN

And it seems that 727 is coming to forewarn that you should not ask,
that since we just concluded that »"XX, therefore the n"21 should be
believed in his partial denial (without an oath) for he must be telling the truth
(since n"RK)!3 —

= 029 MY INIVYUNN 12 ON AWV 12222NNT 112D
And since nevertheless we do obligate the "2 to swear, this indicates
that we consider this »n"21 as an 2%15 n1Y; for if he was not an 0210 NIV then we
would have to believe him since »"XX, and -

- 991 995 S¥a INT A PANI NN )9 ON

If this is true that the »"2% is an 21 N1 then he should be believed
(without a 7v12w) for he has a v that he could have been a >'"'13. The only
reason that a 12"21 is not believed with the 2 of 5"M> is because n"XX therefore he has
no 13 since he could not be 1y and be a 3"mM>. However now that we are saying that the
n"2m is a 0°1d YA (that it why we do not believe him), then he should have the 1» of
5"m> and be myawn Mws. '

n19oIN continues with the answer of 727 that 131 *y2 "9102:

201 a XNMIIRT Ayaw), the shepherd is still obligated in a no*n nyaw (which is a 331277 7¥12w whenever
there is a claim) and therefore the claimants should also be allowed to swear and collect. The X713 answers
that since no°7 NY1aw is a 0on NIpn we do not make an additional 73PN (that 2011 ¥2w1 17310W) on a NIpn
o°non. The X3 however did not suggest that the 17 should be »n"2°Xw 1. This proves that by a 7y12w
11277 (no°n naw) there is no law of 121 I, (See MvOIN there 1710w 7"7 why we do not say Tinn by the
RN»RT 712w.) See ‘Thinking it over’ # 1.

13 However this is not that strong of a question, since it is possible that it is a 2301373 n7°13 that a n"2m is 270
a 7y12w, despite the fact that n"XX. Therefore N0 continues that he has a 1, etc. See following footnote
# 14.

14 And if we do not accept the 13 of 3" let us derive from here that we do not accept the concept of 1.
See previous footnote # 13; see 7" W 0", [Alternately; it would seem that mpoIn is asking that Tws1 ann
the n"21m should be nvawn M. If he is not an 0°15 Ny, then he should be believed with his mvv. If we do
consider him an 2°15 N1ty then he should be 7v12w» WD on account of the 1 of 2"mM2. (See MR 2,3 1"2 750
)]

5

TosfosInEnglish.com



91521 17"7 ' 2,70 M .7"02

- NNP 99)9Y N1 Y IT PNT MNP
And 720 states that this partial denial on part of the »n"21 is not

considered N1y, therefore he is not believed (neither based on his own claim, and not
[even] with a 131 of "M which requires N1TY).

n1voIN asks:
= AMAYY D109 151 NNY NOMAYN TPUN RDT 1129 99NRN ON)

And if you will say since that a person who is XX 7°Wn is not Town
NPY12wR, then why is a robber disqualified to take an oath. What is the
difference between a X)X 7wn and a 1913? They both are willing to take someone else’s
money illegally. Nevertheless we administer a 712w to a X1nK T°Wn because a 71w is a
more serious offence. Even someone who is willing to steal will not swear falsely. The
same should apply to a 1213, Even though he steals, nevertheless he will not swear falsely.

nB0IN answers:
= $2YOD NV 199 IMN DY TIYN RINYI XPYTT P00 NN 290 NV

And >'""9 the 7901 answered that only specifically when he is suspect on
the money for which he is required to swear; only then —

= Y9 NYAYN T LT NNMAYUN TIUN XYT 19999
Do we say that (even though he is 7°wn on this money nevertheless) he is
not RnYAWR 7own, for the obligation of taking an oath will cause that he

separate himself from the act of stealing. He will not take the oath and swear falsely,
but rather he will admit and return the monies owed —

= MAYN T HY WIS XD T 925V 1105 IMN YaN
However that money which he already stole; he will not separate himself

from that wrongdoing through the oath that he is now obligated to swear on a
different issue. When a X1vanR 7wn is given an oath for the monies we suspect he may be
attempting to steal, the 7¥1aw will prevent him from stealing, for since he is not 7wn
Xny1awk he will return the monies owed and will cease to be a X1mnR 7wn (and therefore
he is not a Xn»2wx wn). However by a confirmed 1713, even if he refuses to take the oath
he will still remain a 1513. We cannot administer an oath to a confirmed 171. 13

15 Some commentaries explain this as follows. A regular person is not willing to transgress for both stealing
and to swear falsely; therefore when he is confronted with a 712w he will refrain from swearing falsely
since, if he swears falsely he will be transgressing 1wn and nv1aw. However a 1213, who already stole, is
certainly not willing to return that which he already stole. When he is confronted with a 72w for this
current case he will not desist from swearing falsely; he is not concerned about transgressing two 172y,
because in his mind he already transgressed on 1n by his first 72°13 (which he will not return). The 712
does not see himself doing a halfway 72wn; returning the new money but not the old money. Therefore he
remains RNY1AWR 7°wN (see V1 NIX 2,7 1A"2 7"210).
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MooIN anticipates a question:
= 111993999 Y99 DANT DIVN 191 DD PUNT NOYY NINN AN

And concerning the case of ‘that shepherd’, where the X713 considers the

shepherd to be a 7713 since he ate two of the sheep that were allegedly given to
him for safekeeping and therefore 7y12w% 7100 —

= DONT Y9N 2N YII9Y TOINY 29 DY 9N
Even though that the shepherd is required to pay for these two sheep that
he ate. Seemingly he is not a 1713; he will pay for the two sheep that he ate (since there
are witnesses that he ate them). Concerning the rest of the sheep that the owners claim
they gave him for safekeeping, which he denies, the 712w will cause him to admit. On
those sheep he is merely a X1mnX 7°wi; not a 1713 and even on the two sheep that he ate he
is also no 1213 for he is paying for them. Why then do we not administer an oath to this
"RyI'?!

N1D0IN answers:
- AMAY DIYN INYA 1 YIS XY ©IPN Yan

Nevertheless he will not be w912 from denying owing the rest of the sheep

on account of the oath that we will administer -
- oY NAWN AT PN NI Hya DYWNRY N

For the payment for the two sheep which he is paying against his will is
not considered a proper return of a stolen item. The shepherd is still considered a
1213 even after he pays for the two sheep; since he is not paying of his own accord. If a
1212 admits to owing and repays he is no longer a 171 and is permitted to swear. However
the shepherd did not admit; it is the 2>7v who are forcing him to pay for the two sheep.
The shepherd remains a 121 and is 7y12w% 9109,

moon offers an additional explanation why a X1vanR 7w is 712wH w2 and a 1713 is 2109
awY:
= RIWAYR TOUN NIT NN 19 DAY TV 19107 DIY991) YN

And others explain that a 1913 is (also) 77907 12 7912wW5 "w> (just as a T°WnN

R11A7K, SO t00 a 1213) is not RNPIAWN 7w -
= 1551 NIIYWI 11109 19297199 NON

But rather the 3221 disqualified him from taking an oath when he is a J773.

nMooIN has a question on this opinion that a 1713 is 7125 2109 only 112777:
- 199 YU BY T HUN IX 231579 9109 MTYST NIW IR VNN ON)

16 See ¥91921 1"7 2,81 PLA M20IN who states that by a >XT1 1913 it is a *X13 to administer him an oath.
178,30 (o°wawn) Maw. See 2,712 P70,
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And if you will say; and why is there a difference, by a 1713, between
taking an oath and giving testimony? When it comes to m7¥, a 171 is 90D
as it is written in the 770 ‘do not place your hand (associate yourself)
with a wicked person, etc. We derive from this P10 that a 7913 (who is a yw9) is

disqualified to testify -
- Y5 NIV

However concerning a 7312w (according to the 2°w15n w°) a 1213 is Ws. Why
is there a difference between a 7y12w and M7y nxTyn?! 18

NID0IN answers:
= NP3 R N2 925057 D11 UMY N W APV NYIAYIAT 93D YN

And one can say that concerning a false oath there is a severe

punishment, for concerning a pw ny2Y it is written in the 77N that 7
‘will not cleanse’ the sin of one who swears falsely —

= YIYT OIYN DIV (x,05 97 mmaw) 123971 NIV 9INTI)

And as the X773 states in %1977 ny1aw p7o that the entire world trembled —

= NUH XO() 1wawn RXY) NN 793 WITPN 9INRYS

When the Holy One blessed be He said (do not swear and) do not

mention my name in vain. Therefore even a 1213 whom we do not permit to testify, out

of concern that he may testify falsely, nevertheless concerning an oath, we are not
concerned (77071 11) that he will swear falsely since the punishment is a severe one.

mooIn gives another reason why a 7312w is different than M7y n7an:
= 2079)3u5 ND NON NID 9PY MTYAT M

And furthermore concerning bearing false testimony there is only but

one transgression, namely ‘thou shalt not bear false witness’, however -

19PYY 292N KDY 291150 RY XN 1PV NWaYI)
Concerning a false oath there are two transgressions; namely ‘do not
steal’ and ‘do not swear falsely in my name’. Therefore since there are two
transgressions by 7312w, people are more concerned not to violate them and will not
swear falsely. However by qpw m7y there is only one W5, therefore the 1713 will not be
that concerned and may testify falsely.

18 mpoin is seemingly asking that we should derive the 7y12w> 1213 9109 from the NM17Y% 7213 9100,
1975 (mn) nmw

2035 (1) N

20w (@wIp) RPN

22 The v"2v° in the margin corrects this to read (2°,0° [2°W17P] XP*1) WP Mwa Wwawn X9
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SUMMARY

"1 maintains that the '7°% 7127 °¥2 °9152Y is coming to explain why there is
no concern of RNYVIAWR 1 TWR RMMAAR TWAT WA, MBOIN rejects this (and
proves that) we do not say 121 7°wn7 12 either by a Xn» X7 712w or a 71w
711277. M50IN maintains that 7127 is explaining why the n"XX does not allow us
to believe the n"21m without a 7v12w. There i1s a dispute in M50 whether a
1212 is N WS 9109 or only 13277,

THINKING IT OVER

1. mpoIn derives from the case of X*¥7 X777 that by a 71277 7¥12w we do not
say n"Rw 0.2 Seemingly, there even if it were a XN™IX7 "W we
merely say ¥awi1 1730w and not Tinn (as MooIn explains in 2*2"2). What proof
can we bring from X°v7 X177 that by a 11277 712w we do not say T7inn
n"Rw?!

2. From where do we derive that a 1913 is 77107 12 712w 7109?23

2 See footnote # 12.

24 In fact mpoIn there (Xn1pm1 717 2,7) states clearly that the option of 70 does not exist; (seemingly) for
the same reasons that they do not exist if it were a X787 7¥12w! See 11 MK 2"n. See also MR 2,7 »"2 7"
v%.

23 See footnote # 18. See mnp MR O°¥177 NIDWA.
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